21 0fl &t &
2 0 (600 ) At & (610) I+
NE : (611) B2+ S (01)H88 (e &)
i = E
2 -8 -M g -3 ae s Oa:l i i =@

=3 Al 63,358,407 0| 63,358,407
600 A== 22,699,739 0 22,699,739
610 G2 13,344,880 0 13,344,880
611 AIBE =2 13,152,480 0 13,152,480
01 Jt83& 6,380,088 0 6,380,088

O &g o=k AL EZ 338x1,573,000& x12& 6,380,088
03 B+E 6,024,816 0 6,024,816

O geE ol=& AIEZ 834x602,000& x12& 6,024,816
04 H=sEs 491,904 0 491,904

O UH=EEoI=Z AIER 672x61,000& x12& 491,904
05 MHALZSAE 255,672 0 255,672

O 4&AHE ol=E AEZ 402x53,000& x12& 255,672
661 JIEtF S+ 192,400 0 192,400
02 JIEtAIEE4< 192,400 0 192,400

O HIOIQXSXHZSAISEE MOIE= AHEZ 200,000& x12& 2,400

O 2o HMelAlE AEZ 50,000

> EtAIZ(EE ) 50,000,000& x 14 50,000

O II=EEh SSHEIANE AEZR 140,000,000 14! 140,000
670 ZHel+A 9,354,859 0 9,354,859
671 OlRt==<] 60,000 0 60,000
01 OI30Ixt==< 60,000 0 60,000

© 2303 0kt 5,000,000& x12& 60,000
672 Et3HEY S+ 9,164,659 0 9,164,659
01 LB HAELYS 1,500,000 0 1,500,000

O JEEL S3HelA 4 22| 1,500,000,000& x 14! 1,500,000
04 EIEEAAHXNAZ 7,664,659 0 7,664,659

O =HINESLEIIH M3 (2 =HD13) 7,664,659

b ol=BLHCIALE SH2Z 3,839,247,000& x 14 3,839,247

> 2L SLGtXElAE /ERY 1,067,821,000& x 14 1,067,821

> A=Al StEHX HelAlE 2F 22 1,634,500,000& x 14 1,634,500

P E2adeld 24 235,926,000& x 14! 235,926

P IIEELR S3XEAE 25 357,026,000 x 14| 357,026
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20 (100) AH=2&4 g (170) M2
Ng @ (173) ElgHHEE 24 S (01)20Ex34+¢ (e &)
i = E
2 -8 -M g -3 ae s Oa:l i i =@
100 XrE2d+g 38,210,784 0| 38,210,784
170 =2z 38,210,784 0 38,210,784
173 EleHALEZZ 35,300,784 0 35,300,784
01 FNEXIY 20,048,000 0 20,048,000
O A=(EHHS)ot=2tH FHIAY =Hl 3,242,000,000& x 14 3,242,000
O EF(S4HER)5t20 A =Hl 2,280,000,000& x 14 2,280,000
O A= ZJ|S=XelAld EXAY =Hl 2,507,000,000& x 14! 2,507,000
O EF (&, 24522 HHIAY =Hl 2,625,000,000& x 14 2,625,000
O ot==2t)] AUHE SITAISE AL 2F2tel =H| 6,935,000,000& x 14! 6,935,000
O NEH el DISot=S EXISAL =Hl 1,185,000,000& x 14| 1,185,000
O AxH PEAMKF OtSot=E EX3A =Hl 974,000,000 x 14! 974,000
O XIZH &2 olthE 0t=6t==5 EUIALY =Hl 300,000,000& x 14! 300,000
02 EtelHHEExZL 15,252,784 0 15,252,784
O et K23 270,000
> SH(HHF=PEQ)oE HHIAFS Al&HI 270,000,000& 270,000
O =ENEELESIH M3 (E=2=+HD12) 6,509,800
P AF(EHES) ol=2H FHIAIY 1,480,000,000& x 14! 1,480,000
P A= (SAHLHT) o2t FHIAY 858,400,000& x 14 858,400
> AF ZI|REHelAME dXIAS 1,049,200,000& x 14| 1,049,200
> AFA(SHH, 24) ot+=22 HUIAY 675,000,000 x 14| 675,000
> Gt=2t01 AHE QIXAIEAIE 22t 1,807,000,000& x 14 1,807,000
b AN Hel OtSotE EXI3A 313,200,000& x 14 313,200
P AFH PEAKF OtSot+=E EXISAt 250,200,000& x 14! 250,200
> XI&H B&el olthE OtSot+=5 EUIALS 76,800,000& x 14] 76,800
O =ZINEELESIH M2 (2015H H=HI) 8,472,984
P AF(ENES) ot=2H HBIAL
=l 2,499,739,000&+J13 54,187,000& +AlH]|23,791,000& 2,577,717
P 2AT(SAHLST) ot H FHIALY
=l 2,236,621,000&+7|32 37,644,000& +AlH[47,054,000& 2,321,319
P RAF ZIREHElAME XA
=H| 568,000,000&+J|= 4,000,000&+AlH| 4,000,000& 576,000




20 (100) AHEX+Y gt (170) 2203+

B (173) BISIHA LS E TS0 S ¢ (02) BEHALBES LY (491 : HR)
1 B
ﬂi-@-w@-% ey e B2
P2 (T CHRERT]) of 201 FHIANY
=H| 770,000,000&+21= 198,000,000 +A[H|132,000,000& 1,100,000
P RAF(CHH, RG22 FHIAY
=Hl 158,392,000&+AlHI85,600,000& 243,992
P ot BUHELTAIY 22t Al 301,000,000& 301,000
pAEH o] OtSote=E ZXISAt
=H| 4,405,000&+J|= 87,647,000&+AIHI201,667,000& 293,719
PAEH SET 0ISotsE XIS A
=l 84,126,000&+71= 143,861,000&+AlHl 39,735,000& 267,722
b AEH REAKF OIE0t+E SXISA
=Hl 672,315,000&+AlH| 119,200,000& 791,515
175 SMRE=+Y 2,910,000 0 2,910,000
09 JIEISAIRE==Y 2,910,000 0 2,910,000
O ot ATt RE= 2,910,000,000& x 14! 2,910,000




2 (900) 012 g (920) 0l18=

AIEE  (921) 0122 S ¢ (02) 2HIHA0ID CLEE-E)
1 B
"ié*kllé*-% oy | B2
900 OlIE= 2,447,884 0 2,447,884
920 ol1&32 2,447,884 0 2,447,884
921 0l1&3 2,447,884 0 2,447,884
02 =MHLWH= 2,447,884 0 2,447,884
O =HAHLNHZ 2,447,884,000& x 14! 2,447,884




